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Q1) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the construction and working of packed column.

b) Discuss the different type of distillation method. Explain steam distillation.

c) Define Raoult’s law and overall plate efficiency.

Q2) Attempt any two parts of the following : [2 × 5 = 10]

a) Discuss Azeotropic and Extractive distillation.

b) Explain McCabe Thiele method and its application.

c) What do you mean by Diffusion? Explain diffusion through a stationary gas.

Q3) Attempt any two parts of the following : [2 × 5 = 10]

a) Define Diffusion & state Ficks’ law of molecular diffusion.

b) Explain penetration theory of mass transfer.

c) Define relative humidity, percentage humidity & humidity.

Q4) Attempt any two parts of the following : [2 × 5 = 10]

a) Explain the choice of solvent for absorption and Height of Transfer Unit (HTU).

b) Define mass transfer coefficient and write down its formula.

c) Define dry bulb and wet bulb temperature.

Q5) Attempt any two parts of the following : [2 × 5 = 10]

a) Discuss the construction & working of rotary dryer.

b) Discuss the construction and working process of Bollman extractor.

c) Define minimum reflux ratio and optimum reflux ratio. How are these determined?

Time : 2:30 Hours] [Maximum Marks : 50
[Minimum Marks : 17

NOTES :
i) Attempt all questions.
ii) Students are advised to specially check the Numerical Data of question paper in both versions. If there is any

difference in Hindi Translation of any question, the students should answer the question according to the English
version.

iii) Use of Pager and Mobile Phone by the students is not allowed.
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({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)({hÝXr AZ wdmX)

Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > :Zm oQ > : g^r àíZm| Ho$ CÎma Xr{OE&

à.à.à.à.à.1) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) g§Hw${MV ñVå^ H$s ~ZmdQ> Am¡a H$m¶©{d{Y H$m dU©Z H$amo&

~) AmgdZ {d{Y¶m± {H$VZo àH$ma H$s hmoVr h¢? ^mn-AmgdZ {d{Y H$m dU©Z H$a|&

g) amCëQ>g {Z¶‘ Am¡a g‘J« ßboQ> XjVm H$mo n[a^m{fV H$amo&

à.à.à.à.à.2) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) pñWa ³dWZm§H$s VWm {ZîH$f©U AmgdZ H$s {ddoMZm H$s{OE&

~) ‘¡Ho$d-Wrb {d{Y H$m dU©Z Am¡a BgH$s Cn¶mo{JVm ~VmEo&

g) {dgaU go Amn ³¶m g‘PVo hmo, Am¡a pñWa J¡g Ho$ ‘mÜ¶‘ go {dgaU H$m dU©Z H$amo&

à.à.à.à.à.3) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) {dgaU H$mo n[a^m{fV H$am| VWm {’$³g {Z¶‘ Ho$ Ûmam AmU{dH$ {dgaU H$mo {b{IE&

~) Ðì¶‘mZ ñWmZm§VaU H$s noZoQ´>oeZ {gÕmÝV H$mo g‘PmBEo&

g) gmnoj AmÐ©Vm, à{VeV AmÐ©Vm Am¡a AmÐ©Vm H$mo n[a^m{fV H$amo&

à.à.à.à.à.4) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) AdemofU Am¡a ñWmZm§VaU BH$mB© H$s D±$MmB© Ho$ {bE {dbm¶H$ Ho$ {dH$ën H$mo g‘PmBEo&

~) Ðì¶‘mZ A§VaU JwUm§H$ H$s n[a^mfm VWm BgHo$ gyÌ H$mo {b{IE&

g) ewîH$ ~ë~ Am¡a AmÐ© ~ë~ Ho$ Vmn‘mZ H$mo g‘PmBEo&

à.à.à.à.à.5) {ZåZ{b{IV ‘| go {H$Ýht Xmo ^mJm| Ho$ CÎma Xr{OE& [2 × 5 = 10]

A) amoQ>ar S´>m¶a H$s ~ZmdQ> Am¡a H$m¶©{d{Y H$m dU©Z H$amo&

~) ~m°b‘¡Z {ZîH$f©H$ H$s ~ZmdQ> Am¡a H$m¶©{d{Y H$s {ddoMZm H$s{OE&

g) Ý¶yZV‘ à{Vdmh AZwnmV Am¡a A{YH$V‘ à{Vdmh AZwnmV H$mo n[a^m{fV H$s{OE, Am¡a BgH$mo H¡$go kmV {H$¶m OmVm h¡?
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